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(B) wR<VR<V¢.

(b) v, >V,>V:
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(d) v,>VhiVa® Ve
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symbols for the elements gold, tin and lead,

| respectively ?
A Ga, Sh, Pb

| () At. Sn, Le

e} Au, Sn, 't-“lw/

(d) Au,Sbh, Pb
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(a) CaO (s)+ CO;{g) —» CaCOg4(s)
(b) CaO () +COz(g) - CaCOj(s)

(c) CalOH), () + COy(l) — CaCO, (5) +
ll_;l':.' {{)

(d) Ca(OH)y(ag) + €0y (g) — Cally(s) 4
H,0 ()
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Fe + H,O — FegOy +Hy

(a) Fe+4H0 — FezO4 + Hy
(b) 8Fe+ H0 — FegOu+ 2H,

(c) 8Fe+4H0 — FegOq+4H;

(d) 8Fe+ 4H,0 — FegOy + Hy
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Electrochomical met hos
! Heating method
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(a) CaO (g) + CO,(g) —» CaCOy,l(s
1) Lald il & 00 gl 3 Lalil),; (=)
(e}  CalOH) (D) + COqU) — Callgis) + !

.H-_.';" 1

_:j.}-’ CalOH)y (aq) + COy(g) —» CaCO; 5]+
H-O i)

Which one of the following equations is the

balanced chemical equation for the given|

reaction 7

1“] }1{" + 4"‘:_(_1
(b} 3Fe+H;O0 = Fey0, + 2H,
(e) ,-HFE + 4H,0 --}"Fu;‘lﬂq -{H;+

(d) Fe + 4H,0 — Fey0, + Hy
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Which one of the
represents the above partaorganelies !
Y 1
3 — vacuole; 4
5 - nucleus
}rl" 1 = cell wall; 2 - cell membrane:;
3 - endoplasmic reticulum; 4 - vacuole
B — nucleus E
(e} 1 — cell wall: 2 -
3 - endoplasmic reticulum:; 4 — nucleus;
2 - vacuole
idl 1-=cellwall: 2 - cell membrane;
3 — vacuole: 4 - (nnqinplﬁg-:n'm‘ reticulom:
b = nuclens '

following correctly

- cell membrane: 2 - call wall:

endoplasmic reticulum:

ee]ll membrane:

(6-A)
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Consider the following statements regarding

the ‘Levallois Technique'

1. it refers to nlfsl-uug perforated Harappa |
pottery.

2, It refers to making prehistoric flake |
tools. i

Which of the statements given above 1s/are
correct 7

(a)
]

1 only
2 only

(o)
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Both 1 and 2 '
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Art of 1947 Inid down the basic

framework of the Indian Constitution
The Act provided for the establishment
of two independent Dominions to be

known as Indin and Pakistan
The
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Act empowered the Constituent

each Dominion lo have
unlimited power to frame and adopt any

conshitatian
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ed by wind erosion

Which one of

cultivated under drvland farming

Which one of the following forms of settlement
develops around a lake 7
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Jowar
Ragi
Sugnrenmnes”

Groundnut

Linear
Crozs-shaped
Circular

Square
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